TRIGONOMETRY TOTAL MARKS 15, TIME 40 MINUTES

20 . cosf—-sinf+1
1. If tan@ = —, then find the value of —.
21 cosf+1+sinf

2. I1f sinf = %,find secO + tan@B in terms of a and b.

3, |fard | tand 2coecA, then find which of the following
secA-1 secA+1

holds true for the similar value.

a) tanA tanA
secA—-1 secA—1
tanA tanA
b) —

secA—-1 secA+1
tanA tanA

c) -

secA+1 1—secA

d) All the above

sec? 59°—cot? 31°
3

4. Find the value of x if 4 (

tan? 34° = g

5. Find the value of 8, if V/3 tan26 = cos60° + sin45°cos45°
osa

__cosax _c 2 2 2 .
6.1fm = w05 and n = vl then value of (m* + n*) cos” B is.....

) — %sin 90° + 3 tan? 56° X

1

7. Find the value of (a + ) if sina = % and cosf =

N



